Ψ 320

Ainsworth


Psych 320 - Lab 4 (Chapter 6)
For each question simply copy and paste any output into this document (right after the question) and type any responses along with it so that you can use email to turn this document in.  

1. Open the iq_scores.sav data set in SPSS and calculate Z-scores for the data and to find the proportion of scores that fall between 95 and 120.  
a. Create Z-scores: Click on Analyze ( Descriptive Statistics ( Descriptives…  Move IQ over into Variable(s), select “Save standardized values as variables” and click on OK.

b. Calculate area under normal curve: Click on Transform ( Compute and type piq in the Target Variable: box and type cdf.normal(iq,99.27,15.003) and click on OK.  In variable view change the decimals for piq to 4.
c. Calculate the area between a score of 95 and a score of 120: In data view, click on the box associated with the first person in the IQ column.  Click on Edit ( Find… and type in 95, record the piq score for that value.  Repeat for a score of 120.  Subtract the piq score for 95 from the piq score of 120.  
d. Compare the piq scores from SPSS to the D.10 values.  Are they different? How?

2. Still using the iq_scores.sav data, convert these Stanford-Binet IQ scores to WAIS scores.  Click on Transform ( Compute type wais in the Target Variable: box and type (ziq * 16) + 100  and click on OK.  Compare the new scores to the old, how have they changed?  How could this type of conversion be useful?
3. Open the iq_scores.xls data set in Excel and calculate Z-scores for the data and to find the proportion of scores that fall between 67 and 127.  
a. Create Z-scores using the sample mean and SD:  Using the steps we’ve used in the past labs, calculate the mean (in A202) and the standard deviation (in A203).  Next to the title IQ type ZIQ1 (in B1) and hit enter.  In B2 type =standardize(A2,A$202,A$203) and hit enter.  Drag down (cut and paste, whatever is easier for you) from B2 down to B201.  

b. Calculate area under normal curve using sample mean and SD: In C1 type Area1 and in C2 type =normdist(A2, A$202,A$203,1) and hit enter.  Drag down (cut and paste, whatever is easier for you) from C2 down to C201.  Can you find the two scores you need?  
c. Calculating area between 67 and 127.  In F2 type =normdist(127,A$202,A$203,1) and hit return.  And in F3 type =normdist(67,A$202,A$203,1) and hit return.  In F4 type =F2-F3 and hit enter.  What does this value tell us??

d. Assuming a mean of 100 and a variance of 15:  Redo 3a, 3b and 3c starting on D1, E1 and G1 (respectively) substituting =standardize(A2,100,15) and =normdist(A2, 100,15,1).  How do these new scores differ and what is the point of differentiating between these two??

4. Using http://davidmlane.com/hyperstat/z_table.html calculate the following and check each against table D.10: 
a. Assume a mean of 50 and SD of 10, what is the area under a score of 67?

b. Assume a mean of 50 and SD of 10, what is the area between a score of 47 and 62?

c. Assume a mean of 50 and SD of 10, what score cuts off 22% of the data?

d. Assume a mean of 20 and SD of 2, what is the area between a score of 23 and 26?

e. Assume a mean of 200 and SD of 12, what is the area between a score of 210 and 250?

f. Assume a mean of 200 and SD of 12, what is the area beyond a score of 233?

g. Assume a mean of 200 and SD of 12, what score cuts off 47% of the data?

h. Assume a mean of 150 and SD of 6, what is the area between 142 and 147?

i. Assume a mean of 150 and SD of 6, score cuts off 92% of the data?






